## RESOLUTION OF THE TOHONO O'ODHAM LEGISLATIVE COUNCIL

(Approving the San Xavier Cooperative Association Request to Fund Farm Operations, Farm, Farm Rehabilitation Planning and Other Projects)

**RESOLUTION NO. 2000-126** 

1	WHEREAS.	the Tohono O'odham Nation provided funding to the San Xavier Cooperative					
	,	· ·					
2		Association (SXCA) in May 1998 for the Alfalfa and Mesquite Projects and for					
3		<b>Equipment Purchase and Well Rehabilitation, from the Southern Arizona Water</b>					
4		Rights Settlement Act of 1982 (SAWRSA) Trust of the Nation; and					
5	WHEREAS,	the SXCA has completed the majority of the work under this funding; and					
6	WHEREAS,	SAWRSA, mandates that a delivery and distribution system be constructed for the					
7		SXCA Farm for the delivery of Central Arizona Project (CAP) water; and					
8	WHEREAS,	the CAP Link Pipeline, which will bring CAP water to the farm, is in the beginning					
9		stages of construction and is scheduled for completion in January 2001; and					
10	WHEREAS,	it is necessary to maintain the current operations at the SXCA Farm to prepare for					
11		eventual delivery of the CAP water to the Farm and to prepare for the rehabilitation					
12		of the farm and the farming business; and					
13	WHEREAS,	the SXCA has submitted a proposal for funding to accomplish the above-mentioned					
14		needs; and					
15	WHEREAS,	the funding request components and costs are as follows:					
16		Basic Operations \$ 569,200.00					
17		Farm Rehabilitation Planning/Modular					
18		Office Building \$218,700.00					
19		Hay Storage Facility \$ 21,500.00					
20		Bale Building Demonstration Project \$ 27,250.00					
21		Traditional Garden \$ 34,500.00					
22		Contingency <u>\$ 128,850.00</u>					
23		Grand Total: <u>\$1.000,000.00</u>					
24							
25	NOW, THER	EFORE, BE IT RESOLVED that the Tohono O'odham Legislative Council hereby					
26	approves the funding request by the San Xavier Cooperative Association, in the						
27		amount of \$1 million, for farm operations, farm rehabilitation planning, facilities,					
28	bale building demonstration and traditional garden projects, from the SAWRSA						
29		Trust Fund.					
30	The foregoing Resolution was passed by the Tohono O'odham Legislative Council on the 10TH. day						
31	of MARCH, 2000 at a meeting at which a quorum was present with a vote of 1.341.3 FOR; 666.1						
32	AGAINST; 158.1 NOT VOTING; and [03] ABSENT, pursuant to the powers vested in the Council by						
33	Section 1 (d)(2) of Article VI of the Constitution of the Tohono O'Odham Nation, adopted by the						
34	Tohono O'Odham Nation on January 18, 1986; and approved by the Acting Deputy Assistant						
35	Secretary - Indian Affairs (Operations) on March 6, 1986, pursuant to Section 16 of the Act of June						
36	18, 1934 (48 Stat. 984).						

	RESOLUTION NO. <u>2000-126</u> (Approving the San Xavier Cooperativ Rehabilitation Planning and Other P Page 2 of 3	ve Association Request to Fund Farm Operations, Farm, Farm rojects)
1		TOHONO O'ODHAM LEGISLATIVE COUNCIL
2		
3		
4		Lank.
5		Dennis Ramon, Legislative Chairman
6		
7		13th day of March , 20 00
8		
9		
10	ATTEST:	
11	0 = .	
12	Alma M. Sun Lor	
13 14	Mune M. Sun for Julianna Saraficio, Acting Legislati	va Saavatava
15	l	
16	10th day of March	20 00
17	udy 01	_, 20
18		
19	Said Resolution was submitted fo	r approval to the office of the Chairman of the Tohono
20	O'Odham Nation on the 13th da	y of <i>Morch</i> , 20 00 at 5:16 o'clock
21		ions of Section 5 of Article VII of the Constitution and wil
22	become effective upon his approval	or upon his failure to either approve or disapprove it within
23	48 hours of submittal.	
24		
25		TOHONO O'ODHAM LEGISLATIVE COUNCIL
26		
27		
28		New Year
29		Dennis Ramon, Legislative Chairman
30		
31		
32		th a
33	[ X] APPROVED	on the Harol , 20 00
34	APPROVED	
35 36	DISAPPROVED	at <u>3,58</u> o'clock, <u>f</u> .M.
3 <del>0</del>	I DIGMINOVED	
38		90 N/ Sm 1
39		(Kruer XIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII
40		EDWARD D. MANUEL, Chairman
41		TOHONO O'ODHAM NATION
42		

	RESOLUTION NO. <u>2000-126</u> (Approving the San Xavier Cooperative Association Request to Fund Farm Operations, Farm, Farm Rehabilitation Planning and Other Projects) Page 3 of 3
1	Returned to the Legislative Secretary on the
2	
3 4	, 20 00, at 10-11 o'clock, 4.M.
5	March , 20 00, at 10:11 o'clock, A.M. Denne M. Sen for
6	Julianna Saraficio, Acting Legislative Secretary
7 8	
9	
10	
11	
12 13	
14	
15	
16 17	
18	
19	
20	
21 22	
23	
24	
25 26	
27	
28	
29	
30 31	
32	
33	
34 35	
36	
37	
38	
39 40	
41	
42	

ACTION: APPROVING THE SAN XAVIER COOPERATIVE ASSOCIATION REQUEST TO FUND FARM OPERATIONS,

FARM, FARM REHABILITATION PLANNING AND OTHER PROJECTS

MOVED: COUNCILWOMAN FRANCES ANTONE

SECOND: COUNCILMAN TONY BURRELL

DATE: **MARCH 10, 2000** 

DISTRICT	LEGISLATIVE REPRESENTATIVES	# OF VOTES	FOR	AGAINST	NOT VOTING	ABSENT
SIF OIDAK 171.8	1. MARY ANN ANTONE (Darlene Andrew)	85.9	X			
	2. RITA MARTINEZ (Nicholas Jose)	85.9	x			
SELLS 372.7	1. DENNIS E. JOSE**	186.35		Х		
312.1	2. EVELYN JUAN ( )	186.35		х		
SCHUK TOAK	1. MARY FLORES	66.7		х		
133.4	2. AMBROSE ENCINAS	66.7		x		X
SAN XAVIER	1. TONY BURRELL	82.95	X	· "		
165.9	2. DENNIS RAMON	82.95	X			
BABOQUIVARI	1. FRANCES MIGUEL	143.25	x			
286.5	2. FRANCES G. ANTONE (Edward N. Kisto)	143.25	X			
GU ACHI	1. CAMILLUS LOPEZ (Louis Johnson)	104.8	X			
209.6	2. ALEX J. RAMON	104.8	x			
PISINEMO	1. BARBARA SALVICIO (Alex Antone)	78.4	x			
156.8	2. JOHNSON JOSE	78.4	X			
SAN LUCY	1. ALBERT MANUEL, JR.	64.05	X			
128.1	2. GLORIA RAMIREZ**	64.05	X			
GU VO	1. FERN SALCIDO	80.0		x		
160.0	2. GLORIA MONTANA (Phillip Antone)	80.0		x		х
HICKIWAN	1. ALEX JOSE (Shirley Santos)	79.05			х	X
158.1	2. LLOYD FRANCISCO (Susan Sam)	79.05			х	
CHUKUT KUK	1. KENNETH WILLIAMS	111.3	X			
222.6	2. DAVID GARCIA (Mary Audrey Juan)	111.3	X			
Т	OTAL	2,165.5	1,341.3	666.1	158.1	[03]

<sup>\*\*</sup>PASSED VOTES